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const int MAXN=1e5+5,Inf=1e9;
struct OPT
int type,x,y,k,id;
opt [MAXN<<2|,templ|[MAXN<<2 |, temp2 MAXN<<2|;
int n,alMAXN],c/MAXN],ans[MAXN];
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#define lowbit(x) ((x)&(-x))
void add(int pos,int v
pos<=n
clpos|+=v;
pos+=Llowbit (pos);

int query(int pos
int ans=0;
pos
ans+=c|[pos|;
pos-=lowbit(pos);

ans;

void solver(int qgl,int gr,int vl,int vr
ql>qr ;
int vm=vl+vr>>1;
vi==vr
_rep(i,ql,qr opt[i].type==
ans|opt/i|.id|=vm;

’

int cntl=0,cnt2=0,pos=ql;
_rep(i,ql,qr
opt[i].type==
opt/il.y<=vm
add(opt[i!.x,optii].k);
templ|[++cntl|=opt/i];

temp2 [++cnt2 |=opt|i];

int cnt=query(opt/il.y)-queryl(opt/il.x-1);
opt/i].k<=cnt
templ|[++cntl|=opt|i];

temp2|[++cnt2|=opt|i];
temp2/cnt2].k-=cnt;

_rep(i,1,cntl
templ|i|.type==0)add(templ|[i|.x,-templii].k);
opt|/pos++|/=templ/i];

_rep(i,1,cnt2)opt!pos++|=temp2[il;
solver(ql,qr-cnt2,vl,vm);solver(ql+cntl,qr,vm+1l,vr);
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int main

n=read _int();
int m=read int(),opt cnt=0,q cnt=0,x,y;
_rep(i,1,n

alil=read int();

opt/++opt cnt|=0PT{0,i,alil,1,0};

_rep(i,1,m
char c=get char();x=read int(),y=read int();
c::'c'
opt/++opt cnt ! =0PT{0,x,alx!,-1,0};
opt/++opt cnt ! =0PT{0,x,alx/=y,1,0};

opt|[++opt cnt ! =0PT{1,x,y,read int(),++q cnt};

solver(1l,opt cnt,0,Inf);
_rep(i,1,q_cnt
enter(ans[i]);
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